M comp. man..
Des.: ' < Aut(M) is:
1) free it I hds no sixed 1S
2,) rrorer'j Q]iSCon'tinuouS | £ K‘) K:z, M CP‘C =
= {%em % (Ka)n K, #a! is ¢inite.
_”\m.: [0 acrs Free\3 and Fror. Jisc. on M) then M/l’ is acomr. man..
Proo#: M Conn. arQC)o't=>M CQuntal)'e union of cpt Sets.
M*=M/P ds 3 set, *- orbit of n.
We want to show that, kven geM, I neigh. U3g s,
i 4,112€U,1’14#‘12 then 112"¢11";. In fact, 30 st
% (VAL =0 Vge P\ Al
M oca“5 cwin:‘-—f-‘> 3 basis U, 20,2, of re‘ative‘j crr
Y\ei%)'\s. of 0’-=> F,m—‘—{%’ %(Um)r\umigi is finite.
Fi27F, 2. theresore,is 3 A‘A;&%GFM Y m Zm,, then
0 (V) 2 U # & and U shrinks to a4=> NCVELS
COV\Tr‘a(JiC'L"IOY\. SO 3 U 3s claimee‘ MSLOVQ.
oha €U, ni#E R, = pnf#n;, so (shrinking U i¢
Pnetessarv) wt ‘%QTT; cofr‘c‘. Sjsmm (&1,..%3,,) onU =
= Qives (&®},..., &%) on U 7O
E)(.: (I:%//\

Ex.: M={[x°:... Xy | € fP3| X05+...+X§ =o§j

- m ) T - D - N3y - n4
;;gzm/lsim,o,...,% Y ([Xo:..:%3])= [Pxo.f Xi: PRyt X3 1,
Ex. weighted rojective space. Let go, -, G he positive
intekers with ocd=1. We acr on P bj
2L/(q) %o X 2/ (4). Note: lP(SfécTo,..., ﬁoth,)g P(go,-.., oru).
PL+,2,3], X=]x§+x{ +x5 =of.
. X— fF)1 I . Ca\cu‘aTionS = it’s 3 2:{ Cover os P1
with[xo:x,:xz]n—e[x,:qu ):rancheé Frs =X is 3 %enus 1 curve.
ng‘%udar‘ \OCus of P[c}o, ...,(].,q]. ls 11. is ariEr‘ime) U
= [xoz...:x,\,]\)(-=0 it n¥q; (X (%o,...,q ) = MQS :
E.xf: 113{[1,2,2, s1: S, 5{[0:&, :ijgé,z?é{[?:o:ot]}.” r
Ex.P[1,1,2,5]: Sz §[0:0: :0]1) Sg = {[0:0:0:1]?.
Ex.: §(Xo,...,Xn) homobeneous o¢ debree 2d in PV (Smootl'\).
A V&)=N-1. P[f,...,f:n[]) ,3,%,.,.1:%()(0)_-.))(”),
\/(Aé,’“— §)is 3 2:4 N T cover of PV branched on V(§).
'—loc)ge t\'\eor:j works well for Weig})recj Pro)eCtive varieties.

L*”X )w‘ ,me Eunéle.\X/%Bt IS t»\e (JiviSor of L?

ASSumz L""X l'\BS d meromor hic Section O’:X—-’—*L.

G’iven eX 33 lOCQ’ noﬂvaniS)\m 1'\0‘. Section » of L Je:meJ on
3 neigh. of h=>0=4n §mero dinr () =sinr (§) in the neig%..

Case” X curve. Let 0‘,)0’2'.)(-—)).. be mero. Sections of L =

—> 0,/0, IS 3 mero. Section of L.

le L—X has 3 mero. section Then div (@) module din(X)
s well der, where M(X}:{M(‘})l‘}:xﬁfmmero.}.





